T RECALL

Mrs Barlows had, 136 ptmoglwonhmﬂwdxsplagand/f\/\ts&
Goodrick had 97/. Howmongpxmo{lwor%amthmoliogfﬂ\@m

the Year 5 display?

What key wocabulary tells youw what calculation to- do?
What is the answer to- the word, problem?

Hows maruy more pieces are needed, so- that there are 300 pieces of
works orv displaiy?




WALI: Solme + and -
\/\Aondjproblmvs/




I ntroduction

. Whavcwmopﬂwdhmbook/, she saw two
numbfre,djpﬂgf/&.
Th@sumojlthﬁvsewopag@&wa&3|7.
Whﬂbwould/then@&pﬂg@nmlbmb@?

2. Adonvl&tw{ceo&old/a&Bor\r\g/.

Charlie s 3 gmgoungﬂ\’dmeam\g/.
TI’\E/SUIT\/OJLOJLH\WO@EJ&L&SB.

Howe old is Bor\r\g/?



I ntroduction

3. Solwe the following, Find two- examples for

each bar models

8547
5 5 4869

? )

8547

5 > > 4000 517 1387 1892

1482 350 714

8547 515 -

’) > ’
3000 944 2000




Kexé/ \/ocobuw

Difference

Less tharv
Partition

Counts back,
Add

Plus

Additior
Colummn method

County orv



What will s WAGOLL for solming, +
ond/—word/pr\oblmx&mdud@?




Fhww - Do itk

l. There are |34 bookszwﬂw/hbx\ox\é/ L7 ap@nom—ﬁiriix}m
books and, 26 of the remaining fictiory books have a red
comven, Howmun%/(ﬁmﬁpmbﬂok&dgnothm»@amed/covep?

2. Fred's book has 307 pages. He is on page 169. He

reads another O2 pages: Howmm%/pugwha&hegotl@ﬂt
to read’?

3. /\/\omé/ho&724- kf)é/r\'mg/SzUmB boxmdx%er\er\tcoloured/
boxes. |45 apem@hedbooq 38 ox\e/m/ngx\eerubo%andz

WW@WWW@WW Hovwmumé/k@g/
Nng&amﬂwex\ewth@blu&bow?



Fluency - Do it ANSWERS

l. There are |34 bookszw’dw/hbx\ox\é/ L7 ap@nom—ﬁiatlnm
books and, 26 of the remaining fictiory books have a red
comen, mem%/ﬁmbook&donothwewhedjcov&?
6]

2. Fred's book has 307 pages. He is on page 169. He

reads another O2 pages: Howmm%/pugmha&hegotl@ﬂt
to read? 86

3. /\/\ax\g/ha&724 k@ézr\mg&LrvB bx}xmd%@ex\entcolouped/
boxes. |45 apem@hedbooq 38 ap@mwgﬁeembo%and

%@angkﬂézmng&mwwbluebow Howumon%/k@g/
Nng&amﬂwex\ewt}wblwbow? 54|



Qeasor\mg/ - Secure it

A rmilkmary has 250 boiﬂmo{lmib
HecoUed)&onothen|60}nomthedoirgandeeUM%375
dxmngzﬂwdag/ Howmm%/dowhehmlqﬁt?

~N
Thi&t&rmé/meﬂ'\odz
375 -250 = 25
125 + 160 = 285 )

m&mmm@mgww




Re,ojsonmg/ - Secure ! ANSWERS

No:.
Samhu&used/ﬂwfjwmngznwnb@r\s/to subtract.

He should have added, 160 and, 250 because
these are the bottles he: has to- sell, (410). He
should, therv hawe subtracted, 375 from 410 to
leane 35



Pnoblf,rmsob\/{ng/ - Deepen it

On Monday, Dupree was poid; £114

Howmudmwo&Dupree/pﬂLdJLmtotﬂL?

Hownwxgxcalwlahgn&didzgowdo?

Wa&thex\e/a/mor\e/e%ﬁlumwag?



Pr\oblf,rmsoang/ —Deepf,n/ib!

ANSWERS

£34.2

Ellh + £27 = L14]
ElL - £27 = £87
EllG + £14] + £87 =
£342

ﬁwknowlﬁd.g@thab+27ond/

-2/ conc,eijeod\/other\oui}ond/gou/
carvtherv do £114 x3. I(flgoujdidm’tuse
YOUI OV,



Plenany

Rm&nbmtousememojbtoshomwhomwwdbgowundex\stood/
the, WALT.

g N

Q (Blooms: knowledgﬂ)

7 \

N

A be\ax\g}ha&7,0|7ﬁcﬂombook&ondj 2,468}@/\Aer~nonrﬁwtiom
books. There are 4&,7/08 hooks irv total inv the children's section

o{lthehbxw Howmamé/book&amwtheaduw&smoﬁ
thelibﬁaxy?



